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M.A. (FIRST SEMESTER)
EXAMINATION, Dec. - Jan., 2021-22

ECONOMICS
Paper Fourth

Indian Economy

Time : Three Hours] [Maximum Marks:80


Note : Attempt all sections as directed.


Section - A

(1 mark each)


(Objective/Multiple choice questions)

 
 Attempt all questions.

 Choose the correct answer:

P.T.O.
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1. 


A 

B 

C 

D 

When was the National Income committee established
to estimate the National Income of the country after inde-
pendence in India?

(A) 1948

(B) 1949

(C) 1950

(D) 1951

2. 


A  

B  

C 

D 

Which of the following sector is not including in the sec-
ondary sector in the calculation of National Income?

(A) Construction and Manufacturing

(B) Electricity and Gas

(C) Mining and Quarrying

(D) Water Supply
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3. 



A ` B `

C ` D `

Approximate how much Per Capita Income in the coun-
try has been Advanced Estimated in the estimates of the
National Statistical Office at current prices in the year
2020-21?
(A) Rs. 126968
(B) Rs. 86456
(C) Rs. 134226
(D) Rs. 94954

4. 
        


A   

B 

C 

D   

Under which scheme loans are provided under the name
Shishu, Kishor and Tarun with the aim of promoting small
entrepreneur?
(A) Prime Minister Kisan Yojana
(B) Bharatiya Mahila Bank
(C) NABARD
(D) Prime Minister MUDRA Yojana

P.T.O.
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5. 
  

A  

B  

C  

D  

According to census of India 2011 the decadal growth
rate (2001-2011) of population was :
(A) 16.4 Percentage
(B) 19.6 Percentage

(C) 17.7 Percentage

(D)  Percentage

 


A  

B 

C  

D 
Which of the following is not an indirect method to mea-
suring migration?
(A) Vital Satistics Method
(B) Measurement of cumulative life time migration

cohort method
(C) Survival Ratio Method
(D) Transit Statistics Method
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7.        


A 

B 

C 

D  

The state wiht the highest population density according
to 2011 census is –

(A) Bihar

(B) Maharashtra

(C) Uttar Pradesh

(D) West Bengal

8. 

A 

B 

C 

D 

As per 2011 census data the density of Chhattishgarh
stood at :

(A) 382

(B) 342

(C) 183

(D) 189

P.T.O.
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9. 


A 

B 

C 

D 

NABARD has been established on the basis of the recom-
mendation of which committee?

(A) M. Narasimham Committee

(B) C. Rangarajan Committee

(C) Raja Chelliah Committee

(D) B. Sivaramman Committee

10. 

A 

B  

C  

D  

Which is largest indusrtry in the country?

(A) Mining Industry

(B) Cloth Industry

(C) Electricity industry

(D) Banking industry
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11. 
  

A 

B 

C 

D 

How many of the following land holding farmers are included
in marginal farmers in India?

(A) Up to 1 Hectare

(B) 1-2 Hectare

(C) 1-3 Hectare

(D) 2-5 Hectare

12. 

A 

B 

C 

D 

Which state has the highest producution of pulses in India?

(A) Uttar Pradesh

(B) Madhya Pradesh

(C) Haryana

(D) Punjab

P.T.O.
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13.  
         


A `

B `

C `

D `

After revised in the Micro, Small and Medium Enterprise
Development Act. 2006 in July 2020, Enterprises with
investments amount are define in the category of small
enterprises?
(A) Up to Rs. 1 crore
(B) Up to Rs. 5 crore
(C) Up to Rs. 10 crore
(D) Above Rs. 10 crore

14. 


A 

B  

C 

D 
The apex financial institution responsible for development
of small and micro industries in India is :
(A) Industrial Development Bank of Infia Limited (IDBI)
(B) Smal Industries Development Bank of India (SIDBI)
(C) Industrial Finance Corporation of India Limited (IFCI Ltd.)
(D) Industrial Investment Bank of India Limited (IIBIL)
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15.         


A   

B   

C   

D   

Which Industrial Policy Resolution gave the public sector a
strategic role in the Indian Economy?

(A) Industrial Policy 1948

(B) Industrial Policy 1956

(C) Industrial Policy 1980

(D) Industrial Policy 1991

16. 

A  

B 

C  

D  

Which of the following is not in the infrastructure sector?

(A) Food Processing

(B) Construction of Roads

(C) Expansion of Airports

(D) Power Generation

P.T.O.
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17. 


A 

B  

C   

D    

What is the meaning of PPP Model in infrastructure devel-
opment in India?

(A) Purchasing Power Parity

(B) People's Private Partnership

(C) Public Private Partnership

(D) Poople's Public Partnership

18. 

A  

B  

C  

D  

National Highways in India constitute what percentage of
the total State roads?

(A) 2 Percentage

(B) 4 Percentage

(C) 6 Percentage

(D) 8 Percentage
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19. 


A 

B 

C       


D   

Which of the following statement is not correct 'Train 18' in
India?
(A) It is 100 percent manufactured domestically.
(B) It has been name as 'Vande Bharat Express'.
(C) This is Inidia's fastest train without engine.
(D) It is being operated between Delhi-Mumbai.

20. 


A 

B 

C 

D 

Which National Family Health Survey has been released
recently?
(A) NFHS-3
(B) NFHS-4
(C) NFHS-5
(D) NFHS-6

P.T.O.
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

Section - B

(2 marks each)



(Very Short Answer Type Questions)



Attempt all questions.

1. 

What is the meaning of Disposable Income?

2. 

Describe the methods of National income calulation in
India.

3. 

What is importance of Age Structure calculation?

4. 

What is meaning of agricultural marketing?

5. 

When and by whom was the Green Revolution started in
India?

6. 

What is the meaning of MSMEs?

7. 

What is meaning of social Infrastructure?
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8. 

What is the meaning of Knowledge Economy?



Section - C

(3 marks each)



(Short Answer Type Questions)



Attempt all questions in about 75 words.

1.           


Describe the treand of sector wise contribution of the
National Income of India.

2.      

Describe the migration trend in India.

3.      

Describe the demographic features of Chhattisgarh.

4. 

What is the meaning of Agricultural credit in India?

5.          


Explain the major provisions of Food Security Act in India.
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6.   

Explain the meaning and importance of Disinvestment.

7. 

Describe the importance of unorganized sector in India.

8. 


Explain the main schemes of Health and family welfare
of India.



Section - D



(Long Answer Type Questions)

(5 marks each)



Note- Attempt all questions in about 150 words.

1. 
   

What is the meaning of an economy? Explain the basic
features of Indian economy.

Or


   

What is the meaning of urbanization? Explain the trend
of urbanization in India.
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2. 
   

What is the meaning of agricutlural development? Ex-
plain the major problems of agricultural development in
India.

Or




What meant by land reform? Explain the work done for
land reforms in India before independence.

3. 
    

What is the meaning of Industrial policy? Discuss the role
of Industrial policies in economic development of India.

Or


 


What is the meaning of Industrial development? Discuss
the role of private sector enterprises in development of
India.

4.          
 

What is the meaning of infrastructure? Discuss the role
of infrastructure in economic development of India.
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Or


  

What dy you mean by social sector? Write an essay on
education and health in India.


